
PreCalculus 

1.4-1.5 Practice Quiz 
 
 

1. Let f(x) = x – 7 and g(x) = x² – 4x + 3.  Evaluate the following. 

 

a) (g – f)(x)    b) (f + g) (4)   c) ))(( xfg   

 

Graph the following functions (be familiar with all parent graphs and graphing in 1.4) 

2.   2)(  xxf  

3.   11)(  xxf  

4.   2)( 3  xxf  

5.     23)(
2

4
1  xxf  

 

SOLUTIONS 

 

1.   a.  105)7()34())(( 22  xxxxxxfg  

 

     b.   0)3)4(44()74()4)(( 2  gf  

 

     c.   80183)7(4)7())(( 22  xxxxxfg   

 

2.                                                                                       
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5. 

 

 


